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Consider two identical microscope slides in air illuminated with mono-
chromatic light. The bottom slide is rotated (counterclockwise about the
point of contact in the side view) so that the wedge angle gets a bit small- -
er. What happens to the fringes?

- 1. They are spaced farther apart.
' _. They are spaced closer together.

3. They don’t change.
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Monochromatic hght shmes ona pair of identical glass microscope slides
that form a very narrow wedge. The top surface of the upper slide and the
bottom surface of the lower slide have special coatings on them so that
they reflect no light. The inner two surfaces (4 and B) have nonzero re-
ﬂechwtles. A top view of the shdes looks like -
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